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5.	 Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice type  
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3-	 lkefxzd fodYi ugha fn;k x;k gSA rFkkfi 5 vad dh Js.kh ds lHkh N% iz'uksa rFkk 2@3 vad dh  
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5-	 [kaM ^v* esa iz-la- 1 ls 4] rFkk [kaM ^c* esa iz-la- 28 vkSj 29] cgq&oSdfYid iz'u gSa ,oa buesa ls  
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7-	 [kaM ^v* esa iz-la- 11 ls 16 rFkk [kaM ^c* esa iz-la- 33 ls 35 y?kwÙkjkRed iz'u gSa ,oa buesa ls  
	 izR;sd 2 vadksa dk gSA
8-	 [kaM ^v* esa ç-la- 17 ls 23 rFkk [kaM ^c* esa iz-la- 36 vkSj 37] Hkh y?kqÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 3 vadksa dk gSA
9-	 [kaM ^v* esa ç-la- 24 ls 27 rFkk [kaM ^c* esa iz-la- 38 vkSj 39] nh?kZ mÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 5 vadksa dk gSA
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section - a ([kaM&v)

1.	 It is said that "The pressure on a surface becomes more, when the contact area, for 
a given applied force, is less".							     
From the following, the example that illustrates the above statement is	  
(a)	 Nature has provided elephants with broad feet		   
(b)	 We prefer to use sharp knives to cut vegetables.		   
(c)	 Buses and trucks have four rear wheels.					      
(d)	 High rise buildings have a wide base.	  
;g dgk tkrk gS fd ¶,d fn;k gqvk cy yxkus ij Li'kZ {ks=kiQy ds de gksus ij cy 
dk nkc vfèkd gks tkrk gSA¸ 							        
fuEufyf[kr mnkgj.kksa esa bl dFku ds vuq:i mnkgj.k dkSu lk gS\				 
(a)	çÑfr us gkfFk;ksa dks pkSMs+ iSj iznku fd, gSaA							    
(b)	lfCt;k¡ dkVus ds fy, ge èkkjnkj pkdw dk iz;ksx djuk ilan djrs gSaA		
(c)	 clksa vkSj Vªdksa ds fiNys Hkkx esa pkj ifg;s yxs gksrs gSaA				  
(d)	cgq eaftyh bekjrksa dh uhao pkSM+h gksrh gSA

2.	 Three identical balls are dropped, from the same height in air, in water and in 
honey, respectively. We can then say that the fall of the ball would be 	  
(a)	 fastest in air and slowest in water.		   
(b)	 fastest in water and slowest in air.		   
(c)	 fastest in honey and slowest in water.					      
(d)	 fastest in air and slowest in honey.	 
rhu ,d leku xsanksa dks] gok esa ,d leku Å¡pkbZ ls] Øe'k% ikuh rFkk eèkq esa fxjk;k 
tkrk gSA ge dg ldrs gSa fd xsan dk fxjuk							     
(a)	gok esa lcls rst vkSj ikuh esa lcls èkhek gksxkA						    
(b)	ikuh esa lcls rst vkSj gok esa lcls èkhek gksxkA						    
(c)	 eèkq esa lcls rst vkSj ikuh esa lcls èkhek gksxkA						    
(d)	gok esa lcls rst vkSj eèkq esa lcls èkhek gksxkA

3.	 From the following, the fuel, which produces least pollution, when used in 
automobiles is					      
(a)	 Petrol	 (b)	 CNG		  
(c)	 Diesel	 (d)	 LPG	  
xkfM+;ksa esa iz;ksx fd;s tkus okys fuEufyf[kr baèkuksa esa ls U;wure iznw"k.k djus okyk baèku 
dkSu lk gS\								      
(a)	isVªksy		 (b)	 lh ,u th				  
(c)	 Mhty	 (d)	 ,y ih th
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4.	 Which of the following is a non renewable source of energy?	  

(a)	 Hydel energy	 (b)	 Wind energy	  

(c)	 Fossil fuel	 (d)	 Solar energy	  

fuEufyf[kr esa ls dkSu lk ÅtkZ dk L=kks=k lekIr gksus okyk L=kksr gS\		   

(a)	ty ÅtkZ	 (b)	 ok;q ÅtkZ					  

(c)	 thok'eh ÅtkZ	 (d)	 lkS;Z ÅtkZ

5.	  State the range of a major destructive earthquake on the Richter Scale.	  

fjDVj Ldsy ds iSekus ij ,d vR;kfèkd fouk'kdkjh Hkwdai dh rhozrk ds eku dh o.kZlhek 

crkb;sA

6.	 Name the metals used as the positive and the negative electrodes of a voltaic cell.	 

,d oksyfVd lsy dh èkukRed rFkk ½.kkRed NM+ksa dh èkkrqvksa ds uke fyf[k,A

7.	 State the meaning of the term 'foreshocks of an earthquake'.	  

^Hkwdai ds iwoZ >Vds* 'kCnksa dk vFkZ crkb,A

8.	 Write any two uses of coal gas.								      

dksy xSl ds dksbZ nks mi;ksx crkb,A

9.	 (a)	 Write the name of the poisonous gas, that is produced due to incomplete  

	 combustion of carbon fuels, that causes breathing problems.	  

(b)	 Name the substance produced, on burning wood and coal, that  

	 produces smog.				     

(a)	thok'e~ b±èkuksa ds viw.kZ ngu ls iSnk gksus okyh ml tgjhyh xSl dk uke crkb,  

	 ftlls lkal ysus esa dfBukbZ gks tkrh gSA							     

(b)	thok'e b±èkuksa ds ngu ls iSnk gksus okys ml inkFkZ dk uke crkb, ftlls ?kus dksgjs  

	 dh ijr cu tkrh gSA

10.	 Write any two causes of air pollution.	  

gok ds iznw"k.k ds dksbZ nks dkj.k fyf[k,A
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11.	 A rubber ballon is stretched tightly over one end of a long plastic pipe, the 
pipe is then held vertically and water is gradually poured in it. State the 
change that we would observe in the bulge of the balloon.			    
Give in brief, the reason for the same.				     
,d jcj ds xqCckjs dks ,d yacs IykfLVd ikbi (uyh) ds ,d fljs ij dl dj p<+k 
fn;k x;k gSA ml ikbi dks lhèkk [kM+k djds mlesa ikuh èkhjs&èkhjs Mkyk tkrk gSA	xqCckjs 
ds iqQyko esa gesa D;k ifjorZu fn[ksxk\ la{ksi esa bldk dkj.k Hkh crkb,A

12.	 Give reasons for the following :	  
(a)	 Gymnasts often apply some coarse powder on their hands.	  
(b)	 We often sprinkle powder on a carrom board before starting a game.		   
fuEufyf[kr ds dkj.k crkb,A 	  
(a)	 O;k;ke djrs le; O;fDr vius gkFkksa ij vDlj [kqjnjk ikÅMj yxk ysrs gSaA	
(b)	[ksy ds igys dSje cksMZ ij fpduk ikÅMj fNM+d fy;k tkrk gSA

13.	 Give reason :	  
Solid Sodium Chloride does not conduct electricity while sodium chloride solution, 
in water, conducts electricity.								      
dkj.k crkb, %								      
Bksl lksfM;e DyksjkbM fo|qr dk lqpkyd ugha gS ij ikuh esa lksfM;e DyksjkbM dk ?kksy 
fo|qr dk lqpkyd gSA

14.	 "We should encourage the use of renewable sources of energy." State any 
two reasons, in support of this statement.				     
¶gesa uohudj.kh; ÅtkZ L=kksa=kksa ds iz;ksx dks c<+kok nsuk pkfg,A¸ bl dFku ds leFkZu 
esa dksbZ nks dkj.k fyf[k,A

15.	 (a)	 "The flame of a burning candle blows off when we blow over it strongly."  
	 Give two reasons for this observation.							     
(b)	 If the clothes of a person catch fire, he should be immediately wrapped in a  
	 thick blanket. Why?								      
(a)	dkj.k crkb, %								      
	 eksecÙkh dh Tokyk tksj ls iwaQd ekjus ij cq> tkrh gSA				  
(b)	fdlh O;fDr ds diM+ksa esa vxj vkx yx tk;s rks mls rqjar eksVs dacy esa yisV  
	 nsuk pkfg,A

16.	 Write any two harmful effets of carbon monoxide gas.					   
dkcZu eksuksvkWDlkbM xSl ds dksbZ nks nq"ifj.kke fyf[k,A
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OR (vFkok)

	 (a)	 Name any two acids that make rain water acidic.					   
(b)	 How does acid rain affect the soil?								      
(a)	o"kkZ ds ty dks vEyh; cukus okys fdUgh nks vEyksa ds uke fyf[k,A		
(b)	vEyh; o"kkZ e`nk dks dSls nq"izHkkfor djrh gS\

17.	 Rajiv and his sister Seema were going home from school. Accidently Seema put her 
foot on a banana peel and slipped. She got hurt and started crying. Rajiv consoled 
her and applied medicine on her wound. He also said that we should all take 
care not to throw such waste on the road as it can harm us.				     
(a)	 Why did Seema slip on putting her foot on the banana peel?		   
(b)	 Why is friction termed a necessary evil?						       
(c)	 (i)	 Write one value displayed by Rajiv.						      
	 (ii)	 State the lack of value displayed by the person who threw the banana  
		  skin on the road.								      
jktho vkSj mldh cgu lhek Ldwy ls ?kj tk jgs FksA xyrh ls lhek dk iSj ,d dsys ds 
fNyds ij iM+ x;k vksj og fiQly xbZA mls pksV yxh vkSj og jksus yxhA jktho us mls pqi 
djk;k vkSj mldh pksV ij nokbZ yxkbZA mlus ;g Hkh dgk fd ge lc dks lM+d ij ,slk dwM+k 
ugha isaQduk pkfg, D;ksafd ,slk djus ls gesa gkfu gks ldrh gSA				     
(a)	dsys ds fNyds ij iSj iM+us ls lhek D;ksa fiQly xbZ\					  
(b)	?k"kZ.k dks ,d vko';d cqjkbZ D;ksa dgk x;k gS\						    
(c)	 (i)	 jktho }kjk n'kkZ;k x;k ,d izfrewY; fyf[k,A					   
	 (ii)	lM+d ij dsys dk fNydk isaQdus okys O;fDr }kjk fdl izfrewY; dh vogsyuk  
		  dh xbZ gS\

18.	 (a)	 Why do we say that : "Static frictional force is a self adjusting force but only  
	 upto a certain limit."		
(b)	 Why do we find it easier to maintain an object in motion than to start  
	 it from rest?						       
(a)	LFksfrd ?k"kZ.k dks ,d fuf'pr lhek rd Lofu;fer gks tkus okyk cy D;ksa dgk  
	 tkrk gS\	  
(b)	fdlh xfr'khy oLrq dh xfr cuk, j[kuk] mls fojke voLFkk ls xfr'khy djus dh  
	 rqyuk esa] vis{kkÑr ljy D;ksa gksrk gS\
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OR (vFkok)

	 Give reasons for the following :								      
(a)	 It is friction between our feet (shoes) and ground that helps us to walk.	
(b)	 Suit cases fitted with wheels, can be easily moved from one place to another.	
fuEufyf[kr ds dkj.k crkb, %								      
(a)	gekjs ikao (twrks) rFkk èkjrh ds eè; dk ?k"kZ.k cy gesa pyus esa lgk;d gksrk gSA	 
(b)	ifg;s yxs gq, lwVdslksa dks ,d LFkku ls nwljs LFkku ij ljyrk ls ys tk;k tk  
	 ldrk gSA

19.	 (a)	 Give the meaning of the term 'electrolyte'.						    
(b)	 (i)	 In the two cases, shown here,  would the bulb glow or not glow?		
	 (ii)	 Give, in brief, the reason for your answer in each case

	

		

					     
(a)	 ^bysDVªksykbV* 'kCn dk vFkZ crkb,A						       
(b)	(i)	Åij n'kkZ;s fp=k esa fn[kkbZ x;h nksuksa ifjfLFkfr;ksa esa D;k cYo tysxk ;k ugha  
		  tysxk\	  
	 (ii)	izR;sd fLFkfr esa vius mÙkj ds fy;s la{ksi esa mfpr dkj.k crkb,A

	 Alternative question for visually challenged students in lieu of Q. No. 19(b)	  
n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 19 (b) dk oSdfYid iz'u	 
(b)	 How can one check whether a given liquid is a conductor of electricity or  
	 not ?	 
(b)	ge ;g dSls tk¡p ldrs gSa fd dksbZ nzO; fo|qr dk lqpkyd gS fd ugha\

20.	 (a)	 State any two effects of an earthquake.							     
(b)	 State in brief, the cause of an earthquake.						       
(a)	Hkwdai ds dksbZ nks izHkko fyf[k,A								      
(b)	Hkwdai vkus dk dkj.k] la{ksi esa] crkb,A

21.	 (a)	 How do we find the net effect of two unbalanced forces which are	  
	 (i)	 acting in the same direction?	  
	 (ii)	 acting in opposite directions?		   

3
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(b)	 State the effect (if any) of two balanced forces	  
	 (i)	 on the state of rest or motion of the object.	  
	 (ii)	 shape or size of the object.						       
(a)	nks vlarqfyr cyks dk dqy izHkko dSls izkIr fd;k tk ldrk gSA			 
	 (i)	tc nksuksa cy ,d gh fn'kk esa yxk;s x;s gksA						   
	 (ii)	nksuksa foijhr fn'kk esa yxk;s x;s gksA							     
(b)	tc nks larqfyr cy fdlh oLrq ij yxk;s tkrs gSa rks 					  
	 (i)	 D;k og ml oLrq dh xfr ;k mlds fojke dh fLFkfr] ij dksbZ izHkko Mkyrs gSa\	

	 (ii)	og ml oLrq ds vkdkj vkSj lkbt ij D;k izHkko Mkyrs gSa\

22.	 "Gaseous fuels are considered as the best fuel." Give any three reasons for this 
statement.			    
¶xSlh; b±èku lcls Js"B b±èku ekus tkrs gSaA¸ bl dFku ds dksbZ rhu dkj.k crkb,A

23.	 (a)	 Define 'Green house effect'.	 	 	
(b)	 State two causes of increase in concentration of green house gases in the  
	 atmosphere.						       
(a)	 ^ikSèkk&?kj&izHkko* dh ifjHkk"kk fy[ksaA								      
(b)	^ikSèkk&?kj&izHkko* xSlksa dh ek=kk esa o`f¼ ds nks dkj.k fyf[k,A

24.	 (a)	 While playing football, a player applies force on the ball by kicking it.		   
	 (i)	 Can he change the speed of the ball without changing its direction of  
		  motion?				     
	 (ii)	 Can he change the direction of motion of the ball without changing its  
		  speed?					      
	 (iii)	 Can he change both the direction as well as the speed of motion of the ball? 
	 Give, in brief, & the reason for your answer in each case.				  
(b)	 State the difference between 'contact forces' and 'non-contact forces.		
(a)	iqQVcky [ksyrs oDr ,d f[kykMh xsan dks fdd djds ml ij cy yxkrk gSA 	  
	 (i)	 D;k og xsan dh fn'kk ifjofrZr fd;s fcuk xsan dh xfr dks cny ldrk gS\	
	 (ii)	D;k og xsan dh xfr ifjofrZr fd;s fcuk] pyus dh fn'kk esa ifjorZu yk  
		  ldrk gS\								      
	 (iii)	D;k og xsan dh fn'kk ,oa xfr nksuksa dks ifjofrZr dj ldrk gS\ 	  
		  izR;sd fLFkfr esa vius mÙkj ds fy;s mfpr dkj.k la{ksi esa crkb,A	  
(b)	laEizdh; cyksa rFkk vlEizdh; cyksa esa D;k varj gksrk gS\
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OR (vFkok)

	 (a)	 How does atmospheric pressure help us to drink a liquid with the help of a  
	 straw?				     
(b)	 Why do we not get crushed due to the large atmospheric pressure acting an  
	 our bodies?		   
(c)	 Give reason 	  
	 (i)	 Most mountaineers, climbing to higher attitudes need to carry oxygen  
		  cylinder with them.	  
	 (ii)	 Aircrafts have pressurized cabins.	  
(a)	ok;qeaMyh; nkc ,d LVªk }kjk dksbZ nzO; ihus esa gekjh lgk;rk dSls djrk gS\	  
(b)	gekjk 'kjhj ml ij yx jgs vR;fèkd ok;qeaMyh; nkc ls fipd D;ksa ugha tkrk\	 
(c)	dkj.k crkb, %	  
	 (i)	 T;knk Å¡pkbZ ij p<+kbZ djus okys ioZrkjksgh vius lkFk vkWDlhtu flysaMj ys  
		  tkrs gSaA								      
	 (ii)	ok;q;kuksa esa nkch; dsfcu gksrs gSaA

25.	 (a)	 With the help of a suitable diagram describe how one can get a reddish 
	 coating of copper on a zinc plate.	  
(b)	 Define electrolysis.	  
(c)	 State any two applications of electrolysis.			    
(a)	 ftad ij rkacs dh ykyh fy;s ysiu dh fofèk dks ,d mfpr fp=k dh lgk;rk ls  
	 le>kb,A	  
(b)	^bysDVªksfyfll* dh ifjHkk"kk fyf[k,A	 
(c)	 ^fo|qr vi?kVu* ds dksbZ nks mi;ksx crkb,A

	 Alternative question for visually challenged students in lieu of Q. 25 (a)	  
n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 25 (a) dk oSdfYid iz'u	 
(a)	 Describe an activity for coating a reddish layer of copper on a zinc plate.	  
(a)	 ftad dh IysV ij ykyh fy;s rkacs ds ysiu dh fofèk dk fooj.k dhft,A

OR (vFkok)

	 (a)	 During the experiment on electromagnetic induction, what needs to  
	 be done to				     
	 (i)	 have a flow of current through the coil?	  
	 (ii)	 stop the flow of current through the coil?	 
	 (iii)	 increase the strength of the induced current through the coil?	  
	 (iv)	 change the direction of the induced current?					      

5
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(b)	 Name two devices that work on the basis of 'electro magnetic  
	 induction.'			    
(a)	 fo|qr pqEcdh; izsj.k ds iz;ksx ds nkSjku D;k fd;k tkuk pkfg, rkfd 	  
	 (i)	 fo|qr èkkjk dk izokg gks tk;s\	  
	 (ii)	fo|qr èkkjk dk izokg can gks tk;s\	  
	 (iii)	izsfjr fo|qr èkkjk dk eku vfèkd gks tk;s\	  
	 (iv)	izsfjr fo|qr èkkjk dh fn'kk ifjofrZr gks tk;s\	 
(b)	dksbZ nks midj.kksa ds uke fyf[k, ftudk dk;Z ^fo|qr pqEcdh; izsj.k* ij  
	 vkèkkfjr gSA

26.	 (a)	 In an activity powered coal is heated strongly in the absence of air in a hard  
	 glass test tube. Dark brownish black vapours are given out and are passed  
	 through some water contained in a flask. A colourless gas bubbles out of the  
	 flask and a grey porous residue is left behind in the test tube.	  
	 (i)	 Identity the colourless gas released.	 
	 (ii)	 Name the residue left in the test tube.	  
	 (iii)	 Name the thick black liquid collected in the bottom of the flask.	  
(b)	 Why is there a need for destructive distillation of coal?			    
(a)	dks;ys ds dqN VqdM+ksa dks gok dh vuqifLFkfr esa ,d dk¡p dh uyh esa xeZ fd;s  
	 tkus ij ,d cjkÅu jax dh xSl fudyrh gS ftls ,d ikuh ds crZu esa ls xqtkjk  
	 tkus ij ,d jaxghu xSl ds cqycqys izkIr gksrs gSa rFkk ij[kuyh esa dqN Hkwjk vo'ks"k  
	 jg tkrk gSA	  
	 (i)	 fudyus okyh jaxghu xSl dk uke fyf[k,A	  
	 (ii)	dk¡p uyh esa cps vo'ks"k dk uke fyf[k,A	  
	 (iii)	mi;qZDr iz;ksx esa ikuh ds crZu esa ik;s tkus okys dkys xk<+s nzO; dk uke  
		  fyf[k,A			    
(b)	dks;ys ds ^Hktau vklou* dh vko';drk D;ksa gS\

OR (vFkok)

	 (a)	 What do you understand by refining of petroleum?	  
(b)	 Give any one use of each of the following products :	  
	 (i)	 Highly refined petrol	  
	 (ii)	 Paraffin wax.	  
	 (iii)	 Petroleum gas.	  
	 (iv)	 Fuel oil	  
(c)	 How were petroleum and natural gas formed in nature?			    
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(a)	isVªksfyf;e ds ifj"dj.k dk D;k vfHkizk; gS\		   
(b)	fuEufyf[kr isVªksfy;e mRiknksa dk (dksbZ Hkh) ,d&,d mi;ksx crk;saA	 
	 (i)	 fjiQkbUM isVªksy	  
	 (ii)	isjkfiQu oSDl	  
	 (iii)	isVªksfy;e xSl	  
	 (iv)	b±èku rsy				     
(c)	 isVªksfyf;e o izÑfrd xSl dSls mRiUu gq;s\

27.	 (a)	 State the type of combustion occuring in the following	  
	 (i)	 Burning of coal.	  
	 (ii)	 Burning of crackers.	  
(b)	 How would you extinguish a fire caused by oil or gas?	  
(c)	 State the basic principle involved in fire fighting?	  
(d)	 During summer white phosphorus catches fire spontaneously. Why?	 	  
(a)	 fuEufyf[kr esa gksus okys ngu dk izdkj crkb,A		   
	 (i)	dks;ys dk tyuk	  
	 (ii)	iVk[ks dk tyuk	  
(b)	rsy ;k xSl ls yxh vkx dks dSls cq>kuk pkfg,\			   
(c)	vfXu 'keu ds fy, vkèkkjHkwr fl¼kar D;k gS\	  
(d)	xfeZ;ksa esa lisQn iQkWLiQksjl Lor% gh vkx idM+ ysrk gSA dkj.k crkb,A

OR (vFkok)

	 (a)	 (i)	 Name the part of the flame of a candle in which a copper rod becomes  
		  red hot.	  
	 (ii)	 Why does the copper rod become red hot in this region?	  
(b)	 Which part of the flame contains	  
	 (i)	 unburnt wax vapours?	  
	 (ii)	 unburnt carbon particles?	  
(c)	 Define calorific value of a fuel.	 	 	  
(a)	(i)	 eksecÙkh dh Tokyk ds fdl {ks=k esa rkacs dh NM+ cgqr vfèkd xeZ (yky) gks  
		  tkrh gSA	  
	 (ii)	bl {ks=k esa og cgqr vfèkd xeZ (yky) D;ksa gks tkrh gS\	  
(b)	Tokyk ds ml {ks=k dk uke fyf[k, ftlesa  	  
	 (i)	 ekse dh Hkki dk viw.kZ ngu gksrk gSA	 
	 (ii)	dkWcZu ds d.kksa dk viw.kZ ngu gksrk gSA	  
(c)	 ^Å"eh; eku* dks ifjHkkf"kr djsaA
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section - B ([kaM&c)

28.	 The honeycomb-like structure consisting of little compartments, observed 

by Robert Hooke, in a thin slice of cork, were actually			    

(a)	 living cells	 (b)	 animal cells		   

(c)	 dead cells	 (d)	 unicellular cells	 

jkWcVZ gqd dks dkdZ ds VqdM+s esa fn[kk;h fn;s eèkq ds Nrs tSls vkdkj ds NksVs&NksVs fMCcs 

dh vkÑfr okLro esa								      

(a)	tarq dksf'kdk Fks	 (b)	 ikni dksf'kdk Fks				 

(c)	 e`r dksf'kdk Fks	 (d)	 ,d dksf'kdk Fks

29.	 Which of the following statement is true about endemic species?	  

(a)	 They are not affected by the destruction of their habitat.	  

(b)	 They are found only in zoos and botanical gardens.		   

(c)	 They are found exclusively in a specific habitat.	 	  

(d)	 Endemic species can never become endangered.	  

fo'ks"k {ks=kh Lih'kht ds fo"k; esa uhps fn;s x, dFkuksa esa ls dkSu lk dFku lR; gS\	

(a)	vius vkokl ds u"V gksus dk buij dksbZ izHkko ugha gksrkA			    

(b)	;s dsoy fpfM+;k?kjksa ,oa okuLifrd m|kuksa esa ik;h tkrh gSA		   

(c)	 ;s dsoy fof'k"V vkokl esa gh ik;h tkrh gSA		   

(d)	;s dHkh Hkh ladVkiUu ugha gks ldrhA

30.	 Draw the diagram of a nerve cell.	  

raf=kdk dksf'kdk dk fp=k cuk;saA

	 For visually impaired students in lieu of Q. 30	  

ç- la- 30 ds LFkku ij n`f"V izHkkfor fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  

Write about nerve cell.	  

raf=kdk dksf'kdk dk vkdkj fy[ksaA

31.	 Why do we add phosphoric acid to carbonated beverages?				  

ge dkWcksZusVsM nzO;ksa esa iQkLiQksfjd vEy D;ksa Mkyrs gSa\

1
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32.	 (a)	 Name any one national park of Assam.	  

(b)	 Name any one wild life santuary of Odisha.	  

(a)	vklke ds ,d jk"Vªh; m|ku dk uke fyf[k,A	  

(b)	vksfM+'kk ds ,d oU;tho vHk;kj.; dk uke fyf[k,A

33.	 Micro organisms are divided into four groups on the basis of their cell structure. 

Name these four groups.								      

dksf'kdk dh cukoV ds vkèkkj ij lw{ethoksa ds pkj Hksn fd;s x, gSaA mu pkjksa Hksnksa ds 

uke crkb,A

OR (vFkok)

	 (a)	 Name two places where micro organisms are found in large numbers.	  

(b)	 Name the micro organism which can be crystallised and stored in  

	 jars for years.			    

(a)	lw{e thoksa ds vfèkd la[;k esa ik;s tkus okys nks LFkku crkb,A	  

(b)	ml lw{etho dk uke crkb, ftls ge LiQfVd (fØLVy) cukdj cjuh esa Hkj dj  

	 o"kks± rd j[k ldrs gSaA

34.	 How does deforestation lead to flooding?	 	 	 	 	 	 	

ouksUewyu ls ck<+ vkus dh laHkkouk dSls c<+ tkrh gS\

35.	 The number of dengue cases had increased in Mita's village in last one year. She 

had studied that diseases like dengue spread through mosquitoes which breed in 

stagnant water. She immediately suggested to her friends that they should arrange 

to get the mosquitoes, in water bodies in the locality, killed. They took the help 

of the nearest municipal office for this purpose.	 	 	 	 	 	  

(a)	 Which measures do you suggest for prevention of diseases caused  

	 by mosquitoes? Mention any two measures.	  

(b)	 Which two values are displayed by Mita?	  

fiNys ,d lky esa ehrk ds xk¡o esa Msaxq ds izHkkfor O;fDr;ksa dh la[;k c<+ x;h FkhA 

mlus i<+k Fkk fd Bgjs gq;s ikuh esa iztuu djus okys ePNjksa ls Msaxq iSQyrk gSA mlus 
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vius nksLrksa dks muds bykds ds ikuh Hkjko ds LFkyksa ds ePNjksa dks ekjus ds fy;s mfpr 
dne mBkus dh lykg nhA bl dk;Z ds fy;s mUgksaus eqfufLiy vkWfiQl dh Hkh lgk;rk 
yhA									          
(a)	ePNjksa ls gksus okyh chekfj;ksa ls cpus ds nks mik; crk;saA				  
(b)	ehrk us dkSu ls nks ewY; n'kkZ;s\

36.	 (a)	 Name the cell organelle that is respnsible for cellular respiration.	  
(b)	 Name the term used for protoplasm of the nucleus.	  
(c)	 Write the function of Ribosomes.	  
(a)	ml dksf'kdkax dk uke fy[ksa tks dksf'kdk 'olu esa enn djrh gSA	  
(b)	dsUnzd ds tho nzO; ds fy, iz;ksx fd;s tkus okyk uke crkb,A	  
(c)	 jkbckslkse dk eq[; dk;Z crkb,A

37.	 (a)	 Draw a neat labelled diagram of a plant cell. Label the following parts :	  
	 (i)	 Cell membrane	  
	 (ii)	 Vacuole	  
	 (iii)	 Cell wall	  
	 (iv)	 Plastid	  
(b)	 Name any two components present in a plant cell but absent in an animal  
	 cell.	  
(a)	ikni dksf'kdk dk js[kkfp=k cuk,¡ o fuEufyf[kr Hkkxksa dks yscy djsaA	  
	 (i)	lsy esacjsu (f>Yyh)	  
	 (ii)	fjfDrdk	  
	 (iii)	dksf'kdk fHkfÙk	  
	 (iv)	gfjr yod	  
(b)	nks ,sls Hkkx crkb, tks ikni dksf'kdk esa rks ik, tkrs gSa ijUrq tarq dksf'kdk esa  
	 ughaA

	 For visually impaired students in lieu of Q. 37 (a)	  
ç- la- 37 (v) ds LFkku ij n`f"V izHkkfor fo|kfFkZ;ksa ds fy, oSdfYid iz'u	 
(a)	 Write the functions of the following cell organelles	  
	 (i)	 Nucleus	  
	 (ii)	 Vacuole in plant cell	  
	 (iii)	 Cell wall	  

	 (iv)	 plastid	  
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(a)	 fuEufyf[kr dksf'kdk ds Hkkxksa dk dk;Z crk,¡A	  

	 (i)	 U;qfDy;l	  

	 (ii)	ikni dksf'kdk dh fjfDrdk	  

	 (iii)	dksf'kdk fHkfÙk	  

	 (iv)	gfjr yod

38.	 (a)	 Define bioaugmentation.	  

(b)	 (i)	 Name the biological nitrogen fixer which fixes atmospheric nitrogen  

	 	 in rice fields.	 	  

	 (ii)	 Name the organism which fixes atmospheric nitrogen in the roots of  

		  legumious plants	  

(c)	 How are the bacteria, present in the large intestine, helpful to us?	  

(d)	 Name any one disease caused by virus in each of the following  :	  

	 (i)	 Monkey	  

	 (ii)	 Cattle	  

(e)	 State any one preventive measure against cholera.	 

(a)	ck;ksvkWXesUVs'ku dks ifjHkkf"kr djsaA	  

(b)	(i)	 ml tSfod ukbVªkstu fLFkjhdjrk dk uke crkb, tks ok;qeaMyh; ukbVªkstu dks  

		  pkoy ds [ksrksa esa fLFkjhdj.k djrk gSA		  

	 (ii)	ml ikSèks dk uke crkb, ftldh tM+ksa ls og tqMrk gSA	 

(c)	 gekjh cM+h varfM;ksa esa jgus okys cSDVhjh;k gekjs fy, dSls ykHknk;d gSaA	  

(d)	fdlh ,d jksx dk uke crkb;s tks okbjl ds dkj.k 	  

	 (i)	 canjksa	 (ii)	 eosf'k;ksa 				    

	 esa gks tkrk gSA	  

(e)	dkWysjk (gStk) jksx ls cpko dk dksbZ ,d mik; crkb,A

OR (vFkok)

	 (a)	 What are vaccines?	  

(b)	 How does an infection by a micro organism produce immunity against it?	
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(c)	 Define pathogens.	 	 	 	 	 	 	 	

(d)	 What are antibiotics?						    

(a)	oSDlhu D;k gksrk gS\					      

(b)	lw{etho }kjk bUisQD'ku gksus ij gekjs 'kjhj dk jksx fu;a=k.k dSls c<+rk gS\	  

(c)	 ^isFkkstsu* dks ifjHkkf"kr djsaA	  

(d)	^izfrtSfod* dk D;k vFkZ gS\

39.	 (a)	 When is the international day for biodiversity observed every year?	  

(b)	 Why do we need to conserve biodiversity?	  

(c)	 Biosphere reserves conserve	  

	 (i)	 Wild life	  

	 (ii)	 traditional tribal life		   

	 (iii)	 forest resources	  

	 (iv)	 all of the above.	  

	 Choose the correct answer from the option given above.		   

(d)	 What is scrap paper?	  

(e)	 Biosphere reserves are formed under the programme MAB by UNESCO.  

	 Write the full form of MAB.	  

(a)	gj lky varjjk"Vªh; tSo fofHkUurk fnol dc euk;k tkrk gS\	  

(b)	tSo fofHkUurk dks lajf{kr djus dh gesa D;ksa vko';drk gS\	  

(c)	 tho eaMy vkjf{kr {ks=k fdldk laj{k.k djrs gSa\	 

	 (i)	 oU; thou 	  

	 (ii)	ijaijkxr vkfnoklh thou	  

	 (iii)	ou lalkèku	  

	 (iv)	mi;qZDr lHkh	  

(d)	^jn~nh dkxt* D;k gksrk gS\	  

(e)	tho eaMy vkjf{kr {ks=k UNESCO  }kjk MAB izksxzke ds vUrZxr cuk;s x;s gSaA ;gk¡  

	 MAB dk iwjk vFkZ D;k gS\

OR (vFkok)
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	 (a)	 Why is wild life sanctuary called a wild life refuge?	  

(b)	 Name two biosphere reserves of India.						       

(c)	 State the difference between flora and fauna.	 	 	 	 	  

(d)	 How does introduced species have an impact on endemic species?	  

(a)	outho vHk;kj.k; dks oU;tho 'kj.kLFky D;ksa dgk tkrk gS\		  

(b)	Hkkjr ds nks tho eaMy vkjf{kr {ks=kksa ds uke fyf[k,A	 

(c)	 iknitkr rFkk izkf.ktkr esa varj crkb,A	  

(d)	fo'ks"k{ks=kh; Lih'kht ij ifjp; djkbZ gqbZ Lih'kht (baVªksM;wlM Lih'kht) dk izHkko  

	 dSls gksrk gS\


